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JBEE=: WS8E-406

BFA—IL: sugi@cs.titech.ac.jp

IEEDODIT YA
http://sugiyama-www.cs.titech.ac.jp/~suqi/
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MERLRETDERE
WERLTH, Xy
X, EEFEN
HEENE DFERH T DBl
B DIEERS DB
WERAFR, T&’EMEL%'?&
2 RITDERE D
R DER], il R 7 IH
HETHIETE, IRERETE
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FrE LT DA ZF(Chebyshev's inequality)

V(X
P(IX — E(X)| > k) < /iz ) ks
REZR 510 D BRI T (2 DDA ER HE &
DEMNMBEE FIELTIDFERIZE-
THED LRAHETES
FIELIIDFERENNEHEELELITHL
THRITS ! P =B H

A
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P(X — B(X)| 2 k) < T

Ve = [ (X - B2 (XX

/ (X — B(X))*f(X)dX
I:{X: X — E(X)| > k)
> k2/f

— 12 P(|X — B(X)| = k)



FIELTIDORER DR 17

HAHRERD A BDEHH60/, NENH20T
Hof=. 65U LEFIIESHLUTDAITE
KDE[I/N—ERLLTH?
HAHRERD R D EHEH60H, 7FIH30T
HoT-. RENS0RLYECTORKYIENANIZ
SIRDR/S—E UL EMN?
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< ILATDAZFH (Markov's inequality):
P(Xza,)géE[X] foranya >0 X >0

vzt DAFE (Jensen’s inequality):
Eh(X)| > h(FX]) h(x) : EaBE 2R

ANILE —DFZF L (Holder's inequality):
1 1
EIXY[] < (BIXIP)P (BY |
for any p,q > 0 such that 1/p+1/¢=1
BWIZp=q=2DHEE1TILIYDATF
(Schwarz’s inequality) &k A
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HEED a0/ LEEDHc (0,1)IZRLT
UTOEXMNKYILDEE, J(a) IFHEEEK
(convex function) T&H B ELND

J(Oa+(1-0)d")<0J(a)+ (1-0)J(a")

J(a)

0J(a) + (1 —6)J(a)
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LAt ERANTERT DDIEIEREITEELLY !
LT ERT A=-ODERD/N—FOIT7LH5.
e EFFRTNHRMELENDYEIRRZIA
—ARIZIE, BB HZTRAWNSZENZL.

o CEEEDrandBARIT— R LIELEZ £ LT S
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& #5t — % 52 #7 (continuous uniform distribution):

W 2 A —
f(x){ e (a<a<b)

0 (otherwise)
(a,b) LDO—t7% Ula,b) EXT.
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— R EL B IERR B U EL R £ R T D RERRIT,

REDOFHEHKEHET
%*LM%GDE \DHERE

AESNTULS.

ERR f(r) ZROMER

DMITHESE B U BEYEL (u~ f(z) &EXRT).

L f@)
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W BE#% (inverse transform sampling):

1. u~U((0,1)&HESED.

179

2. o= F ' (u)I$HRBE f(x) E2HD.

F~Hu) : F(x) O3B
= F""(u)

u = F(x)

F(x) : f(x) DRES

ek

F(z) = /f
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L
F(x)
w~ U(0,1) r=F""(u)
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\V/’U, P(ZB S ’U) — F(’l])’&/\-d—.
P(x <v) = P(F!(u) <v) r=F"(u)
=Pu<F() a<b= F(a)<F(b)
F(v)
:/ g(u)du g(u) :{ (1) Egtieqlfwglsel))
F(v) (UDHERZEER)
= du
0 A
= F(v) F(b)
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0.3r1 1 3000+
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0.1+ 1 1000+
500+

00 i 2 3 A 5 0

5% 57 i B & R LT-ELED
MR E ER by




LD ERE2 184
#Z 1% (rejection sampling):
1. u~U(a,b) ZRESHES.
(a,b) : flz) DEZSE
2. v ~ U(0, max f(z)) EFEESES.

3. v < f(u) 15l u Z kiR (accept)L,
ZOTRRITNIEEH (reject) T 5.

4. 1. 121 E 5.
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1 BE LA
o WRHMMNEN VG TKESLGWNEAHS.
ZAE

o EHEMAREWNGE, I{SADEHEH.
SEADICHRNNNS.
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EELAF

e FIELITONAEK
ATEREIC K DB D &R
o W EEEUE

o EHL
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TAT-6EAEDSNA(HSHBIXT, 2, 8, 4, 5, 6)
75\37)6 ;G)Tf&éb\;éo)l__lég(i

o HAFFIEMN2. 2

o EIHM

THHEWNS. FIEDTIDFREXZALTLUTO
RALMZZEZZ &

M SERIIFRE TGN ?

1, 2, SOWVWIT NI HIERIIFIELSH?
2N HHERIIFIE TGN ?
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6 H6H (£)DEFEXEIL, FHRIFHEAEHETIT
http://www.csc.titech.ac.jp/

NE ELBOREEICEATHTEHES

AEMZZRITOCWICARKTADT, BB LTHLZLE.

10457 ETITHIEHEICRS I HZE

BRIFERGAEREDOT IO EFE>TULVELEL

[, IRERTRICHERIZEKSZL




